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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

ac˜ÁÃ^Eı YÁPˆy‘]-1 ( Subsidiary - 1 ) 

=◊‡ˆV◊[˝VÓÁ ( Botany ) 
Y“U] Yy (S-I, SBT-I : Botany-I) 

a]Ã^  f ◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

◊[˝\ˆÁG - Eı 

 Â^ ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

1* Rhizopus-AÃ[˝ %ÜL GPˆX C ÂÃ[˝S«ÿöˆ_›Ã[˝ GPˆX ◊ªJÙyac˜EıÁ„Ã[˝ 

[˝SÔXÁ EıÃ[˝”X * Rhizopus-AÃ[˝ Â^ÏX LXX Yà˘◊Tˆ◊ªRÙO ◊[˝`„V 

[˝SÔXÁ EıÃ[˝”X * Ac˜O ªK˜yÁEı◊ªRÙOÃ[˝ %UÔÍX◊TˆEı mÃ[˝”±ºˆ %Á„_ÁªJÙXÁ 

EıÃ[˝”X * 6 + 10 + 4 

2* ÊzıÁ„Ã[˝ÁZıÁc˜Oa›Ã[˝ ªJÙÁ◊Ã[˝◊≈yEı È[˝◊`‰rÙÓÃ[˝ ◊[˝[˝Ã[˝S ◊VX * 

Oedogonium-AÃ[˝ ◊[˝◊W˝a∂ˆÇTˆ È[˝p˚Á◊XEı %[˝ÿöˆÁX =‰{F 

EıÃ[˝”X * Oedogonium-AÃ[˝ ]ÓÁy‘ÁXÀQˆÁa C XÓÁXÁXQŒˆÁa 

Y“LÁ◊TˆÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊Eı ? ]ÓÁy‘ÁXÀQˆÁa Y“LÁ◊TˆÃ[˝ Â^ÏX 

LXX ◊ªJÙyac˜EıÁ„Ã[˝ %Á„_ÁªJÙXÁ EıÃ[˝”X * 4 + 2 + 4 + 10 

3* [˝ÓÁEı‰ªRÙO◊Ã[˝Ã^ÁÃ[˝ ÂEıÁbY“ÁªJÙ›„Ã[˝Ã[˝ ]«FÓ =YÁVÁXm◊_ ◊Eı ◊Eı ? 

ÂYYªRÙOÁc˜O„QˆÁG¿Ác ÕEıÁ„XÃ[˝ Ã[˝ÁaÁÃ^◊XEı GPˆ„XÃ[˝ [˝SÔXÁ ◊VX * G–Á] 

ÂX„G◊ªRÙO\ˆ C G–Á] Y◊L◊ªRÙO\ˆ [˝ÓÁEı‰ªRÙO◊Ã[ Ã̋̂ ÁÃ[˝ ÂEıÁb Y“ÁªJÙ›„Ã[˝Ã[˝ ]„W˝Ó 

YÁUÔEıÓ ◊XÃ[˝÷YS EıÃ[˝”X * Z¿ıÓÁ„L_Á C ◊Y◊_Ã[˝ ]„W˝Ó 

YÁUÔEıÓm◊_ =‰{F EıÃ[˝”X * 3 + 7 + 6 + 4 

4* =◊‡ˆV ÂÃ[˝ÁGV]„X ◊Eı ◊Eı EıbÔS]…_Eı Yà˘◊Tˆ [˝Á cultural 

measure ÂXCÃ^Á c˜Ã^ TˆÁ =‰{F EıÃ[˝”X * G] GÁ‰ªK˜Ã[˝ 

E ıb’[˝SÔ ]◊Ã[˝ªJÙÁ ÂÃ[˝Á„GÃ[˝ ÂÃ[˝ÁGL›[˝ÁS«Ã[˝ È[˝p˚Á◊XEı XÁ] C ÂGÏS 

ÂYÁb„EıÃ[˝ XÁ] ◊_F«X * Ac Õ ÂÃ[˝ÁG◊ªRÙOÃ[˝ ]«FÓ ÂYÁb„Eı =Y◊ÿöˆTˆ 

V`Ám◊_Ã[˝ ◊ªJÙyac˜ [˝SÔXÁ ◊VX * 6 + 2 + 12 

◊[˝\ˆÁG - F 

 Â^ ÂEıÁ„XÁ ª◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

5* [˝–Á„Ã^ÁZıÁc˜OªRÙOÁÃ[˝ È[˝◊`rÙÓm◊_Ã[˝ =‰{F EıÃ[˝”X * Riccia-Ã[˝ 

◊_ÜW Ã̋[˝ =◊‡ˆ„VÃ[˝ [˝◊c˜GÔPˆ„XÃ[˝ [˝SÔXÁ ◊VX * Riccia UÓÁ_Á„aÃ[˝ 

%‹ôˆGÔPˆX ◊ªJÙyac˜EıÁ„Ã[˝ [˝SÔXÁ EıÃ[˝”X * 4 + 4 + 4 
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6* Pteris-AÃ[˝ V«◊ªRÙO \ˆÁÃ[˝Tˆ›Ã^ Y“LÁ◊TˆÃ[˝ XÁ] ◊_F«X * Pteris-AÃ[˝ 

ÂaÁÃ[˝Á„aÃ[˝ %‹ôˆGÔPˆX ◊ªJÙyac˜EıÁ„Ã[˝ [˝SÔXÁ ◊VX * Pteris-AÃ[˝ 

◊_ÜW˝Ã[˝ =◊‡ˆV ◊ªJÙyac˜ [˝SÔXÁ EıÃ[˝”X * 2 + 5 + 5 

7* \ˆÁLEı Eı_Á EıÁ„Eı [˝„_ ? ◊ªJÙyac˜ \ˆÁï«ı_ÁÃ[˝ [˝Á◊≥Qˆ„_Ã[˝ AEı◊ªRÙO 

Ê`“◊S◊[˝XÓÁa EıÃ[˝”X * 2 + 10 

8* L›[˝Á„`ΩÃ[˝ aep˚Á ◊VX * L›[˝Á`Ω a ◊rÙÃ[˝ Y“◊y‘Ã^Á a]…„c˜Ã[˝ [˝SÔXÁ 

◊VX * 2 + 10 

9* Gnetum-AÃ[˝ Y«eGÓÁ„]‰ªRÙOÁZıÁc˜O‰ªRÙOÃ[˝ GPˆX ◊ªJÙyac˜ [˝SÔXÁ 

EıÃ[˝”X * Gnetum-AÃ[˝ mä[˝›L› =◊‡ˆVa…_\ˆ È[˝◊`rÙÓm◊_Ã[˝ 

[˝SÔXÁ ◊VX * 7 + 5 

10* _Ác˜O◊ªRÙOEı ZıÁL C ÊªRÙO+Á„Ã[˝ªRÙO ZıÁL-AÃ[˝ ]„W˝Ó Y“„\ˆV ◊Eı ? 

◊ªJÙyac˜ _Ác Õ◊ªRÙOEı ªJÙ„y‘Ã[˝ [˝SÔXÁ ◊VX * 4 + 8 

 

◊[˝\ˆÁG - G 

 Â^ ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

11* XX-◊a‰∫RÙO◊]Eı C ◊a‰∫RÙO◊]Eı ZıÁe◊GaÁc˜OQˆ EıÁ„Eı [˝„_ ? V«◊ªRÙO 

◊a‰∫RÙO◊]Eı ZıÁe◊GaÁc Õ„QˆÃ[˝ XÁ] ◊_F«X * 4 + 2 

12* TMV \ˆÁc˜OÃ[˝Á„aÃ[˝ GPˆX ◊ªJÙyac˜ [˝SÔXÁ EıÃ[˝”X * 6 

13* aÁÃ^Á„XÁZıÁc Õa› ÂGÁ‰yÃ[˝ È`[˝Á„_Ã[˝ ªJÙÁ◊Ã[˝◊≈yEı È[˝◊`rÙÓm◊_  

=‰{F EıÃ[˝”X * 6 

14* AEÀı‰ªRÙOÁÊZ¿ıÁ◊Ã^Eı C %ÓÁ◊∂ˆïı‰Z¿ıÁ◊Ã^Eı aÁc˜OZı„XÁ◊∫RÙO◊_Ã[˝ Y“„\ˆV 

◊X„V¤` EıÃ[˝”X * 6 

15* Cycas-AÃ[˝ ◊Qˆ∂ëˆ„EıÃ[˝ %‹ôˆGÔPˆX ◊ªJÙyac˜EıÁ„Ã[˝ [˝SÔXÁ EıÃ[˝”X* 6 

16* ÊªRÙO◊Ã[˝„QˆÁZıÁc˜OªRÙOÁ Ê`“◊SÃ[˝ =◊‡ˆ„VÃ[˝ %UÔÍX◊TˆEı mÃ[˝”±ºˆ %Á„_ÁªJÙXÁ 

EıÃ[˝”X * 6 

17* aÁÃ[˝ C %aÁÃ[˝ EıÁ„úˆÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊X„V¤` EıÃ[˝”X * 6 

18* ◊X=zı›C„Ã^Qˆ ◊Eı ? AÃ[˝ GPˆX [˝ÓÁFÓÁ EıÃ[˝”X * 6 



 SBT-I (UT-248/16) SBT-I (UT-248/16) 2  

B.Sc.-7302-B  [ P.T.O. B.Sc.-7302-B  

( English Version ) 

 

Group – A 

 Answer any two questions : 20 × 2 = 40 

1. With suitable diagram describe the vegetative 

and sporangial structure of Rhizopus. Describe 

in detail the sexual reproduction of Rhizopus. 

Discuss its economic importance. 6 + 10 + 4 

2. State the salient features of chlorophyceae. Give 

the systematic position of Oedogonium. 

Differentiate between macrandrous and 

nannandrous species of Oedogonium. Elucidate 

the sexual reproduction of macrandrous sp. of 

Oedogonium with the help of labelled diagrams. 

  4 + 2 + 4 + 10 

3. What are the principal components of bacterial 

cell wall  ? Describe the chemical structure of 

Peptidoglycan. Mention the differences between 

the cell wall of gram positive and gram negative 

bacteria. What are the differences between 

flagella and pili. 3 + 7 + 6 + 4 

4. Mention the cultural measures taken to control 

plant diseases. Write the scientific name of 

casual organism of black stem rust of wheat as 

well as the name of its alternative host. Describe 

the different stages of this disease present in the 

principal host with the help of suitable diagrams. 

  6 + 2 + 12 

Group – B 

 Answer any three questions : 12 × 3 = 36 

5. State the characteristic features of bryophyta. 

Describe the morphology of Riccia gametophyte. 

With suitable diagram describe the internal 

structure of the thallus of Riccia. 4 + 4 + 4 

6. Write the names of two Indian species of Pteris. 

With proper diagram describe the internal 

structure of the sorus of Pteris. Describe the 

gametophytic plant of Pteris with suitable 

diagram. 2 + 5 + 5 

7. What is meant by meristematic tissue ? Classify 

vascular bundles with proper diagrams. 2 + 10 

8. Define fossil. Write in brief different processes of 

fossilization. 2 + 10 
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9. Describe in detail the structure of male 

gametophyte of Gnetum with suitable diagram. 

Give an account of the angiospermic characters 

of Gnetum. 7 + 5 

10. Differentiate between temperate and lytic phages. 

Describe the lytic cycle with proper diagram. 

  4 + 8 

Group – C 

 Answer any four questions : 6 × 4 = 24 

11. What are meant by non-systemic and systemic 

fungicides ? Name two systemic fungicides. 4 + 2 

12. Describe the structure of TMV with diagram. 6 

13. Mention the salient features of cyanophyceae. 6 

14. Differentiate between ectophloic and amphiphloic 

siphonostele. 6 

15. Describe the internal structure of Cycas ovule. 6 

16. Discuss the economic importance of 

Pteridophyta. 6 

17. Differentiate between ‘Heart wood’ and ‘Sap 

wood’. 6 

18. What is nucleoid ? Discuss its structure. 6 

    


